7.1 operations on functions notes

7-1: Operations on Functions

Let f(x) and g(x) be any two functions.

Operation Definition Examples iff(x) = x + 2, g(x) = 3x
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Example: Given f(x) = x* + 5x - 2 and g(x) = 3x - 2, find the following functions.
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Example: f(x)=x*-7x+2, g(x)=x+4

Find: (f+ g)(x) & (f/g)(x)
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Composition of Functions: A function is performed and then a second
function is performed on the result of the first function.

Suppose f and g are functions such that the range of g is a subset of the domain of
f. Then the composite functionlf o g can be described by...

[fogl(x) = flg(x)]

This is read...f of g.
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Example: If f= {(3,-2), (-1,-5), (4,7), (10,8)}
and g = {(4,3), (2,-1), (9,4), (3,10)}
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Exampl

A. Find [f(og](x) nd [g6c.>?](x) for f(x) =x - 5 and g(x) =x* + 2x + 3
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B. Evaluate [fo g](x) and [go f](X) for x =-3
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